Sample Written Assignment

Section P.3 #118

Problem summary (or print exact problem and directions):  Police use the formula 
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 to estimate the speed a vehicle was traveling based on its skid marks.  The problem gives us L = 45 feet.  Find v.  Compare to the posted speed limit of 35.  Should the officer believe the driver when she says she was NOT speeding?

Since L = 45, our formula gives v to be:
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5*45 = 225

Since 225 = 152, the formula reduces to 2*15 = 30.

Since 30 mph is less than the posted speed limit of 35, the officer should believe her when she says she was not speeding.

To get the square root, you can use Equation Editor (click Insert, Object, scroll down for Equation Editor if it’s installed on your computer).  Alternatively, you can find the initial root sign under symbols, and put everything under the root sign in parentheses.  You can also simply use text such as sqrt().  Powers can be indicated using superscript (click Format, Font), or the ^ symbol.  Ask in class or email me any questions you have about representing other math notations in your homework write-up.

The best written homework problems will include not only the math, and a verbal description of what you did, but also why you did it—what property are you using, etc.
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